Sappi North America

Digital Stock Book

Effective 06.17

18

35



Sappi Digital flexibility to deliver personalized brand experiences.

This Digital Stock Book provides product details and stocking information for McCoy[®] Digital, McCoy[®] Digital for HP Indigo, Opus[®] Digital, Opus[®] Digital for HP Indigo and Flo[®] Digital. The information is accurate at the time of publication (indicated by effective dates on each page) and is subject to change.

For SMO items, please consult your customer service representative. Visit sappi.com for updates.

It's the small customizations that allow your brand to leave a big impression.

That's why we deliver a complete line-up of digital products that lets you get personal. Choosing digital means having an eye toward customization, variability and speed, which Sappi delivers alongside superior performance—because even quick-turn projects can yield long-term results. So whether you're searching for high-end premium paper designed to produce a brilliant brand experience, a comprehensive paper capable of delivering wherever the job demands or the highest quality paper for a limited budget, our expansive digital portfolio has the flexibility to make your brand one that customers remember.

Press Certifications

McCoy-Digital				
SAPPI DIGITAL GRADES	FINISH	HP INDIGO	KODAK NEXPRESS	XEROX IGEN
McCoy Digital	Gloss		•	٠
	Silk		•	٠
McCoy Digital for HP Indigo	Gloss	•		
	Silk	٠		
Opus—Digital				
SAPPI DIGITAL GRADES	FINISH	HP INDIGO	KODAK NEXPRESS	XEROX IGEN
Opus Digital	Gloss		•	٠
	Dull		•	٠
Opus Digital for HP Indigo	Gloss	•		
	Dull	•		
Flo-Digital				
SAPPI DIGITAL GRADES	FINISH	HP INDIGO	KODAK NEXPRESS	XEROX IGEN
Flo Digital	Gloss	•	•	•
	Dull	•	•	•

All Sappi Digital paper meets exacting standards and is certified to outperform on the presses listed above. In addition to those in the chart, McCoy Digital, Opus Digital and Flo Digital are also suitable for many other digital production color presses.

McCoy Digital

When it comes to delivering the best of the best, nothing compares to McCoy.

It boasts the most consistent surface possible, providing uniformity to showcase the clarity, color intensity and detail that the world's high-end brands demand. McCoy offers two distinct sheets that outperform across a range of digital presses. McCoy for HP Indigo is ideal for premium printing and photobook production, while McCoy Digital runs superbly on Kodak NexPress, Xerox iGen and more.

Specification Guide

McCo	McCoy – Digital and McCoy – Digital for HP Indigo										
FINISH	TEXT OR COVER	BASIS WEIGHT (LB/GSM)	BRIGHTNESS STANDARD	OPACITY STANDARD	GLOSS STANDARD	CALIPER AVERAGE	GUARANTEED CALIPER	PPI	L*A*B* PAPER WHITE ¹		
Gloss	Text	80/118	96	95.0	72	.0036		552	95.90, 2.70, -7.30		
		100/148	96	96.5	72	.0047		430	95.90, 2.70, -7.30		
	Cover	80/216	96	98.5	72	.0069		290	95.90, 2.70, -7.30		
	_	100/270	96	99.0	72	.0091		220	95.90, 2.70, -7.30		
	_	120/325	96	99.0	72	.0110		182	95.90, 2.70, -7.30		
Silk	Text	80/118	96	95.0	43	.0038		522	95.90, 2.70, -7.30		
	_	100/148	96	96.5	43	.0050		404	95.90, 2.70, -7.30		
	Cover	65/176	96	98.0	43	.0059		340	95.90, 2.70, -7.30		
	_	80/216	96	98.5	43	.0074		270	95.90, 2.70, -7.30		
		100/270	96	99.0	43	.0097		206	95.90, 2.70, -7.30		
		120/325	96	99.0	43	.0120		168	95.90, 2.70, -7.30		

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

1 CIE L*a*b* values are approximate and in conformance with ISO 13655:2009. Data are specified according to the measurement condition M0; measured using X-Rite eXact, D50, 2°observer, white (self) backing. Values may vary significantly when measured with different instruments. White point values in accordance with the measurement condition M1 are available upon request.

McCoy Gloss Text

80lb/118gsm

Brightness−96 Opacity−95 Paper Gloss−72 Caliper−.0036 PPI−552 ♣10% recycled fiber, FSC,[®] SFI[®]

100lb/148gsm

Brightness – 96 Opacity – 96.5 Paper Gloss – 72 Caliper – .0047 PPI – 430 ♣10% recycled fiber, FSC,[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
12 × 18	K11925	Carton	36	1500	40	60000

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
12 × 18	K11926	Carton	45	1200	40	48000

Digital for HP Indigo										
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET				
12 × 18	K11882	Carton	45	1200	40	48000				
13 × 19	K11744	Carton	52	1000	36	36000				
29 ¹ / ₂ × 20 ¹³ / ₁₆	K13064	Carton	129	800	20	16000				

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

McCoy Gloss Cover

80lb/216gsm

Brightness-96 Opacity-98.5 Paper Gloss-72 Caliper-.0069 PPI-290 10% recycled fiber, FSC[®] SFI[®]

100lb/270asm

Bri Op Pa

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
18 × 12	K11927	Carton	66	750	40	30000

Digital for HP Indigo										
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET				
18 × 12	K11883	Carton	66	750	40	30000				
19 × 13	K11745	Carton	76	750	36	27000				

ightness—96	
acity-99	
per Gloss-72	:

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
18 × 12	K11928	Carton	83	600	40	24000
201/2 × 141/3	K11984	Carton	113	500	36	18000

Digital for HP Indigo									
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET			
18 × 12	K11884	Carton	83	600	40	24000			
19 × 13	K11746	Carton	95	600	36	21600			

120lb/325gsm

Brightness-96 Opacity-99 Paper Gloss-72 Caliper-.0110 PPI-182 10% recycled fiber, FSC[®] SFI[®]

Digital for HP Indigo CARTONS / PALLET SHEETS / CARTON SHEETS / PALLET SIZE CODE PUT UP M WEIGHT 18 × 12 K11855 Carton 100 500 20000 40 19 × 13 K11856 114 500 36 18000 Carton 2013/16 × 291/2 K13067 Carton 283 350 20 7000

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

McCoy Silk Text

80lb/118gsm

Brightness – 96 Opacity – 95 Paper Gloss – 43 Caliper – .0038 PPI – 522 \$10% recycled fiber, FSC[®], SFI[®]

Digital									
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET			
11 × 17	K11931	Carton	31	2000	32	64000			
12 × 18	K11935	Carton	36	1500	40	60000			

Digital for HP Indigo									
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET			
12 × 18	K11877	Carton	36	1500	40	60000			
13 × 19	K11739	Carton	42	1500	36	54000			
29½ × 2013/16	K13240	Carton	103	1000	20	20000			

100lb/148gsm

Brightness - 96 Opacity - 96.5 Paper Gloss - 43 Caliper - .0050 PPI - 404 \$10% recycled fiber, FSC[®], SFI[®]

Digital									
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET			
12 × 18	K11936	Carton	45	1200	40	48000			
14¼ × 20½	K11978	Carton	62	900	36	32400			

Digital for HP Indigo										
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET				
12 × 18	K11878	Carton	45	1200	40	48000				
13 × 19	K11740	Carton	52	1000	36	36000				
29 ¹ / ₂ × 20 ¹³ / ₁₆	K13068	Carton	129	800	20	16000				

McCoy Silk Cover

65lb/176gsm

Brightness-96 Opacity-98.0 Paper Gloss-43 Caliper-.0059 PPI-340 \$10% recycled fiber, FSC[®] SFI[®]

Digital for HP Indigo									
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET			
13 × 19	K12541	Carton	62	1000	36	36000			
	K12540	Package		250¹	144²	36000			
	K12554	Skid				36000			
19 × 13	K13353	Carton	62	1000	36	36000			
	K12826	Package		250¹	144²	36000			

80lb/216gsm

Brightness-96 Opacity-98.5 Paper Gloss-43 Caliper-.0074 PPI-270 Collow recycled fiber, FSC,® SFI®

Digital									
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET			
17 × 11	K11933	Carton	58	1000	32	32000			
18 × 12	K11937	Carton	66	750	40	30000			

Digital for HP Indigo									
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET			
18 × 12	K11879	Carton	66	750	40	30000			
19 × 13	K11741	Carton	76	750	36	27000			
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13069	Carton	189	500	20	10000			

100lb/270gs	m
-------------	---

Brightness – 96 Opacity – 99 Paper Gloss – 43 Caliper – .0097 PPI – 206 \$10% recycled fiber, FSC,[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
18 × 12	K11938	Carton	83	600	40	24000
201/2 × 141/3	K11986	Carton	113	500	36	18000

Digital for HP Indigo										
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET				
18 × 12	K11880	Carton	83	600	40	24000				
19 × 13	K11742	Carton	95	600	36	21600				
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13070	Carton	236	400	20	8000				

All grades are acid-free and archival. All values listed are approximate and subject to change.Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

1 Sheets/Ream

2 Reams/Pallet

Effective

McCoy Silk Cover

120lb/325gsm

Brightness−96 Opacity−99 Paper Gloss−43 Caliper−.0120 PPI−168 ♣10% recycled fiber, FSC,[®] SFI[®]

Digital for HP Indigo										
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET				
13 × 19	K12542	Package	114	250¹	72²	18000				
	K12555	Skid	114			18000				
18 × 12	K11853	Carton	100	500	40	20000				
19 × 13	K11854	Carton	114	500	36	18000				
	K12566	Skid	114			18000				
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13071	Carton	283	350	20	7000				

All grades are acid-free and archival. All values listed are approximate and subject to change.Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

Effective 06.17

1 Sheets/Ream

2 Reams/Pallet



Opus Digit<mark>a</mark>l

ILI MARRIE

-

SAMAAAAAAAAA

A STATE BEAR STATE

If you've got the will, Opus Digital is the way.

We continue to expand our product line, so no matter what your print campaign needs, Opus Digital has the breadth and depth to do it. Our paper is engineered for maximum impact across an extended range of weights and finishes, and provides tight tolerance standards for a consistent canvas capable of delivering a captivating integrated marketing campaign.

Specification Guide

Opus-	-Digital	and Opus-	Digital for	HP Indig	D				
FINISH	TEXT OR COVER	BASIS WEIGHT (LB/GSM)	BRIGHTNESS STANDARD	OPACITY STANDARD	GLOSS STANDARD	CALIPER AVERAGE	GUARANTEED CALIPER	PPI	L*A*B* PAPER WHITE ¹
Gloss	Text	80/118	94	93.5	72	.0036		552	96.20, 1.45, -4.85
		100/148	94	96.0	72	.0047		442	96.20, 1.45, -4.85
	Cover	80/216	94	98.0	72	.0069		290	96.20, 1.45, -4.85
		100/270	94	99.0	72	.0091		220	96.20, 1.45, -4.85
		120/325	94	99.0	72	.0110		182	96.20, 1.45, -4.85
Dull	Text	80/118	94	93.5	43	.0038		526	96.20, 1.45, -4.85
		100/148	94	96.0	43	.0049		410	96.20, 1.45, -4.85
	Cover	80/216	94	98.0	43	.0075		268	96.20, 1.45, -4.85
		100/270	94	99.0	43	.0098		206	96.20, 1.45, -4.85
		120/325	94	99.0	43	.0117		156	96.20, 1.45, -4.85

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

1 CIE L*a*b* values are approximate and in conformance with ISO 13655:2009. Data are specified according to the measurement condition M0; measured using X-Rite eXact, D50, 2°observer, white (self) backing. Values may vary significantly when measured with different instruments. White point values in accordance with the measurement condition M1 are available upon request.

Opus Gloss Text

80lb/118gsm

Brightness – 94 Opacity – 93.5 Paper Gloss – 72 Caliper – .0036 PPI – 552 \$10% recycled fiber,¹ FSC[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
11 × 17	K12086	Carton	31	2000	32	64000
12 × 18	K12096	Carton	36	1500	40	60000
13 × 19	K13655	Carton	42	1500	40	60000
14¼ × 20½	K13666	Carton	49	1200	36	43200

Digital for HP Indigo								
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET		
12 × 18	K13072	Carton	36	1500	40	60000		
13 × 19	K13120	Carton	42	1500	36	54000		
29 ¹ / ₂ × 20 ¹³ / ₁₆	K13123	Carton	103	1000	20	20000		

100lb/148gsm

Brightness – 94 Opacity – 96 Paper Gloss – 72 Caliper – .0047 PPI – 442 \$10% recycled fiber,¹ FSC[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
11 × 17	K12093	Carton	39	1500	32	48000
12 × 18	K12084	Carton	45	1500	40	60000
13 × 19	K13667	Carton	52	1000	40	40000
14¼ × 20½	K13668	Carton	62	900	36	32400

Digital for HP Indigo									
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET			
12 × 18	K13073	Carton	45	1200	40	48000			
13 × 19	K13106	Carton	52	1000	36	36000			
29 ¹ / ₂ × 20 ¹³ / ₁₆	K13109	Carton	129	800	20	16000			

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

Opus Gloss Cover

80lb/216gsm

Brightness - 94 Opacity - 98 Paper Gloss - 72 Caliper - .0069 PPI - 288 \$10% recycled fiber,¹ FSC[®], SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
17 × 11	K12083	Carton	57	1000	32	32000
18 × 12	K12092	Carton	66	750	40	30000
19 × 13	K13669	Carton	76	750	36	27000
201/2 × 141/3	K13670	Carton	90	600	36	21600

Digital for HP Indigo								
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET		
18 × 12	K13074	Carton	66	750	40	30000		
19 × 13	K13125	Carton	76	750	36	27000		
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13128	Carton	189	500	20	10000		

100lb/270gsm

Brightness – 94 Opacity – 99 Paper Gloss – 72 Caliper – .0091 PPI – 220 \$10% recycled fiber,¹ FSC[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
17 × 11	K12090	Carton	72	750	32	24000
18 × 12	K12102	Carton	83	600	40	24000
19 × 13	K13671	Carton	95	600	36	21600
201/2 × 141/3	K13672	Carton	113	500	36	18000

Digital for HP Indigo								
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET		
18 × 12	K13081	Carton	83	600	40	24000		
19 × 13	K13111	Carton	95	600	36	21600		
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13114	Carton	236	400	20	8000		

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

Opus Gloss Cover

120lb/325gsm

Brightness−94 Opacity−99 Paper Gloss−72 Caliper−.0110 PPI−182 ♣10% recycled fiber,¹ FSC,[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
17 × 11	K13673	Carton	86	500	32	16000
18 × 12	K13674	Carton	100	500	40	20000
19 × 13	K13675	Carton	114	500	36	18000
201/2 × 141/3	K13676	Carton	136	400	36	14400

Digital for HP Indigo								
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET		
18 × 12	K13075	Carton	100	500	40	20000		
19 × 13	K13116	Carton	114	500	36	18000		
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13119	Carton	283	350	20	7000		

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

Opus Dull Text

80lb/116gsm

Brightness-94 Opacity-93.5 Paper Gloss-43 Caliper-.0038 PPI-526 \$10% recycled fiber,¹ FSC,[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
11 × 17	K12089	Carton	31	2000	32	64000
12 × 18	K12091	Carton	36	1500	40	60000
13 × 19	K13653	Carton	42	1500	40	60000
14¼ × 20½	K13654	Carton	49	12000	36	43200

Digital for HP Indigo								
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET		
12 × 18	K13076	Carton	36	1500	40	60000		
13 × 19	K13096	Carton	42	1500	36	54000		
29½ × 20 ¹³ / ₁₆	K13099	Carton	103	1000	20	20000		

100lb/148gsm

Brightness – 94 Opacity – 96 Paper Gloss – 43 Caliper – .0049 PPI – 410 \$10% recycled fiber,¹ FSC[®] SFI[®]

Digital								
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET		
11 × 17	K12094	Carton	39	1500	32	48000		
12 × 18	K12085	Carton	45	1500	40	60000		
13 × 19	K13655	Carton	52	1000	40	40000		
14¼ × 20½	K13656	Carton	62	9000	36	32400		

Digital for HP Indigo										
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET				
12 × 18	K13077	Carton	45	1200	40	48000				
13 × 19	K13082	Carton	52	1000	36	36000				
29½ × 20⅓/16	K13085	Carton	129	800	20	16000				

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

Opus Dull Cover

80lb/216gsm

Brightness – 94 Opacity – 98 Paper Gloss – 43 Caliper – .0075 PPI – 268 \$10% recycled fiber,¹ FSC[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
17 × 11	K12095	Carton	57	1000	32	32000
18 × 12	K12100	Carton	66	750	40	30000
19 × 13	K13657	Carton	76	750	36	27000
201/2 × 141/3	K13658	Carton	90	600	36	21600

Digital for HP Indigo										
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET				
18 × 12	K13078	Carton	66	750	40	30000				
19 × 13	K13101	Carton	76	750	36	27000				
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13104	Carton	189	500	20	10000				

100lb/270gsm

Brightness – 94 Opacity – 99 Paper Gloss – 43 Caliper – .0098 PPI – 206 \$10% recycled fiber,¹ FSC[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
17 × 11	K12101	Carton	72	750	32	24000
18 × 12	K12097	Carton	83	600	40	24000
19 × 13	K13659	Carton	95	600	36	21600
201/2 × 141/3	K13660	Carton	113	500	36	18000

Digital for HP Indigo									
SIZE		CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET		
18 × 12	K13079	Car	ton	83	600	40	24000		
19 × 13	K13087	Car	ton	95	600	36	21600		
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13090	Car	ton	236	400	20	8000		

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

Opus Dull Cover

120lb/325gsm

Brightness-94 Opacity-99 Paper Gloss-43 Caliper-.0117 PPI-170 \$10% recycled fiber,¹ FSC[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
17 × 11	K13661	Carton	86	500	32	16000
18 × 12	K13662	Carton	100	500	40	20000
19 × 13	K13663	Carton	114	500	40	18000
20 ¹ / ₂ × 14 ¹ / ₃	K13664	Carton	136	400	36	14400

Digital for HP Indigo										
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET				
18 × 12	K13080	Carton	100	500	40	20000				
19 × 13	K13092	Carton	114	500	36	18000				
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13095	Carton	283	350	20	7000				

Effective 06.17 All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

Flo Digital

(O)

Flo Digital does the budget good.

With this paper, you can expect maximum output without putting a dent in your pocketbook. As Sappi's recommended house sheet, it provides reliable on-press performance and color reproduction to handle whatever the job requires. Plus, increased stocking support from local merchants and our regional distribution centers keep you feeling secure that Flo Digital is waiting to complete your custom jobs whenever you call on it.

Specification Guide

Flo-D	Digital								
FINISH	TEXT OR COVER	BASIS WEIGHT (LB/GSM)	BRIGHTNESS STANDARD	OPACITY STANDARD	GLOSS STANDARD	CALIPER AVERAGE	GUARANTEED CALIPER	PPI	L*A*B* PAPER WHITE ¹
Gloss	Text	80/118	90	93.0	68	.0035		566	95.80, 1.22, -3.25
		100/148	90	96.5	68	.0045		446	95.80, 1.22, -3.25
	Cover	80/216	90	97.5	68	.0072	7pt²	278	95.80, 1.22, -3.25
		100/270	90	99.0	68	.0093	9pt³	214	95.80, 1.22, -3.25
		120/325	90	99.0	68	.0115		168	95.80, 1.22, -3.25
Dull	Text	80/118	90	94.0	43	.0037		536	95.80, 1.22, -3.25
		100/148	90	96.5	43	.0048		420	95.80, 1.22, -3.25
	Cover	80/216	90	97.5	43	.0075	7pt²	268	95.80, 1.22, -3.25
		100/270	90	99.0	43	.0097	9pt³	208	95.80, 1.22, -3.25
		120/325	90	99.0	43	.0121		168	95.80, 1.22, -3.25

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

1 CIE L*a*b* values are approximate and in conformance with ISO 13655:2009. Data are specified according to the measurement condition M0; measured using X-Rite eXact, D50, 2*observer, white (self) backing. Values may vary significantly when measured with different instruments. White point values in accordance with the measurement condition M1 are available upon request.

2 Guaranteed to meet U.S. Postal Service 7-point minimum business-reply requirements.

3 Guaranteed to meet U.S. Postal Service 9-point minimum business-reply requirements.

Flo Gloss Text

80lb/118gsm

Brightness-90 Opacity-93 Paper Gloss-68 Caliper-.0035 PPI-566 \$10% recycled fiber, FSC,[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
11 × 17	K11943	Carton	31	2000	32	64000
12 × 18	K11947	Carton	36	1500	40	60000
13 × 19	K11955	Carton	42	1500	36	54000
14 × 20	K11951	Carton	47	1200	36	43200
29 ¹ / ₂ × 20 ¹³ / ₁₆	K13237	Carton	103	1000	20	20000
	K13685	Skid	103			9200

100lb/148gsm

Brightness – 90 Opacity – 96.5 Paper Gloss – 68 Caliper – .0045 PPI – 446 \$10% recycled fiber, FSC[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
11 × 17	K11944	Carton	39	1500	32	48000
12 × 18	K11948	Carton	45	1200	40	48000
13 × 19	K11956	Carton	52	1000	36	36000
14 × 20	K11952	Carton	59	1000	36	36000
29 ¹ / ₂ × 20 ¹³ / ₁₆	K13146	Carton	129	800	20	16000
	K13686	Skid	129			7200

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

Flo Gloss Cover

80lb/216gsm

Brightness-90 Opacity-97.5 Paper Gloss-68 Caliper-.0072 Guar. Caliper-7pt¹ PPI-278 \$10% recycled fiber, FSC[®], SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
17 × 11	K11945	Carton	58	1000	32	32000
18 × 12	K11949	Carton	66	750	40	30000
19 × 13	K11957	Carton	76	750	36	27000
20 × 14	K11953	Carton	86	600	36	21600
20 ¹ / ₂ × 14 ¹ / ₃	K11987	Carton	90	600	36	21600
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13147	Carton	189	500	20	10000
	K13687	Skid	189			4500

100lb/270gsm

Brightness – 90 Opacity – 99 Paper Gloss – 68 Caliper – .0093 Guar. Caliper – 9pt² PPI – 214 \$10% recycled fiber, FSC[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
17 × 11	K11946	Carton	72	750	32	24000
18 × 12	K11950	Carton	83	600	40	24000
19 × 13	K11958	Carton	95	600	36	21600
20 × 14	K11954	Carton	108	500	36	18000
201/2 × 141/3	K11988	Carton	113	500	36	18000
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13148	Carton	236	400	20	8000
	K13688	Skid	236			3500

120lb/325gsm

Brightness-90 Opacity-99 Paper Gloss-68 Caliper-.0115 PPI-168 \$10% recycled fiber, FSC[®], SFI[®]

Digital							
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET	
18 × 12	K13580	Carton	100	500	40	20000	
19 × 13	K13581	Carton	114	500	36	18000	
20 × 14	K13583	Carton	129	500	36	18000	
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13582	Carton	283	350	20	7000	

All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

Effective 06.17

1 Guaranteed to meet U.S. Postal Service 7-point minimum business-reply requirements.

2 Guaranteed to meet U.S. Postal Service 9-point minimum business-reply requirements.

Flo Dull Text

80lb/118gsm

Brightness-90 Opacity-94 Paper Gloss-43 Caliper-.0037 PPI-536 \$10% recycled fiber, FSC,[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
11 × 17	K11959	Carton	31	2000	32	64000
12 × 18	K11963	Carton	36	1500	40	60000
13 × 19	K11971	Carton	42	1500	36	54000
14 × 20	K11967	Carton	47	1200	36	43200
29 ¹ / ₂ × 20 ¹³ / ₁₆	K13238	Carton	103	1000	20	20000
	K13689	Skid	103			8700

100lb/148gsm

Brightness – 90 Opacity – 96.5 Paper Gloss – 43 Caliper – .0048 PPI – 420 \$10% recycled fiber, FSC[®] SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
11 × 17	K11960	Carton	39	1500	32	48000
12 × 18	K11964	Carton	45	1200	40	48000
13 × 19	K11972	Carton	52	1000	36	36000
14 × 20	K11968	Carton	59	1000	36	36000
29 ¹ / ₂ × 20 ¹³ / ₁₆	K13143	Carton	129	800	20	16000
	K13690	Skid	129			6900

Flo Dull Cover

80lb/216gsm

Brightness-90 Opacity-97.5 Paper Gloss-43 Caliper-.0075 Guar. Caliper-7pt¹ PPI-268 \$10% recycled fiber, FSC[®], SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
17 × 11	K11961	Carton	58	1000	32	32000
18 × 12	K11965	Carton	66	750	40	30000
19 × 13	K11973	Carton	76	750	36	27000
20 × 14	K11969	Carton	86	600	36	21600
20 ¹ / ₂ × 14 ¹ / ₃	K11989	Carton	90	600	36	21600
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13144	Carton	189	500	20	10000
	K13691	Skid	189			4200

100lb/270gsm

Brightness – 90 Opacity – 99 Paper Gloss – 43 Caliper – .0097 Guar. Caliper – 9pt² PPI – 208 \$10% recycled fiber, FSC[®], SFI[®]

Digital						
SIZE	CODE	PUT UP	M WEIGHT	SHEETS / CARTON	CARTONS / PALLET	SHEETS / PALLET
18 × 12	K11966	Carton	83	600	40	24000
19 × 13	K11974	Carton	95	600	36	21600
20 × 14	K11970	Carton	108	500	36	18000
20½ × 14⅓	K11990	Carton	113	500	36	18000
20 ¹³ / ₁₆ × 29 ¹ / ₂	K13145	Carton	236	400	20	8000
	K13692	Skid	236			3200

120lb/325gsm

Brightness – 90 Opacity – 99 Paper Gloss – 43 Caliper – .0121 PPI – 168 \$10% recycled fiber, FSC[®], SFI[®]

SHEETS / CARTON CARTONS / PALLET SHEETS / PALLET CODE PUT UP M WEIGHT SIZE K13585 18 × 12 Carton 100 500 40 20000 19 × 13 K13586 114 500 18000 Carton 36 20 × 14 K13588 Carton 129 500 36 18000 2013/16 × 291/2 K13587 Carton 283 350 20 7000

Effective 06.17 All grades are acid-free and archival. All values listed are approximate and subject to change. Grades are run to weight and finish; caliper is an approximation only and cannot be guaranteed except where indicated. All grades are manufactured with virgin pulp produced with elemental chlorine-free (ECF) bleaching, and recycled pulp that is processed chlorine-free (PCF). Please visit sappi.com for the most up-to-date information.

1 Guaranteed to meet U.S. Postal Service 7-point minimum business-reply requirements.

2 Guaranteed to meet U.S. Postal Service 9-point minimum business-reply requirements.

Production Notes

Covers

McCoy for HP Indigo Gloss Cover 100lb/270gsm, 4-color process plus overall gloss aqueous

Interior

McCoy for HP Indigo Silk Text 80lb/118gsm, 4-color process

The names, symbols, logos, and all other intellectual property of the companies, brands, and people appearing herein are the exclusive property of their respective owners and should not be interpreted as an endorsement of or by Sappi; any legal and equitable rights in their intellectual property are exclusively reserved to those owners.

The data, specifications and/or certifications provided herein are current as of the date of printing and may change without notice in Sappi's discretion.

SAPPI is a trademark of Sappi Limited. MCCOY, OPUS, SOMERSET and FLO are registered trademarks of Sappi North America.

©2016 Sappi North America. All Rights Reserved.



Sappi North America 255 State Street, Boston MA 02109 800.882.4332 sappi.com

The Fine Line of Sappi Papers

Our Products

We engineer our products to meet specific user needs, but there are several attributes you'll get from every piece of Sappi paper:

- Superior quality
- High-grade fiber
- Smooth printing surface
- Consistent press performance
- Dependability in the toughest printing environments
- Superior ink hold-out for full color intensity
- Uniform color reproduction
- Side-to-side consistency
- Tight variability tolerances
- Made in the USA (McCoy, Opus, Somerset and Flo)

Pioneering Research and Innovation

At Sappi, our passion for paper can be traced back over 150 years and is what guides us today. Our history of industry firsts includes the first paper coated and calendered on two sides, the first dull coated paper and the first mill branded paper. Our innovative spirit is also demonstrated in initiatives like the eQ Journal and Ideas that Matter program, which provide thought leadership for the entire paper industry.

Sustainability

When you commit to a print campaign, you should be confident in your paper company's approach to sustainability. That's why we take a holistic view of our environmental responsibilities — from harvest through manufacturing, distribution, end use and disposal. From beginning to end, we infuse environmental and social responsibility into our paper, processes and people in order to give you one less thing to worry about.

For product-specific environmental information, go to www.sappi.com/ paper-stock-products.

Best-in-Class Service

We go way beyond technical specifications to help you choose the right paper for your brand and campaign needs. And once you're on press, our trusted printer technical support team stands ready to make sure your project turns out just right.



For more information, please contact your local Sappi sales representative at 800.882.4332.

Effective 06.17 PRO - 6218